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Question Bank  
Class 12  

Mathematics 
Unit -4 PART-2  

 
ASSERTION REASON QUESTIONS 

Instructions:  
Select the correct option for each Assertion-Reason question. 
(A) Both assertion and reason are correct, and the reason is the correct explanation of 
assertion. 
(B) Both assertion and reason are correct, but the reason does not explain the assertion. 
(C) Assertion is correct, but the reason is incorrect. 
(D) Assertion is incorrect, but the reason is correct. 
Ǔनदȶश :- 

1. Ĥ×येक Ĥæन मɅ एक कथन(A) और एक कारण (R) Ǒदया गया है। 

2. आपको दोनɉ कथनɉ का सावधानीपवू[क ͪवæलेषण करके सहȣ उƣर का चयन करना है: 
A) A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया करता है। 

B) A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं करता। 

C) A सहȣ है, लेͩ कन R गलत है। 

      D) A गलत है, लेͩ कन R सहȣ है। 
 
1. Assertion-Two lines in 3D space intersect if their parametric equations satisfy a common 
solution. 
दो रेखाए ँǒğͪवमीय अतंǐर¢  मɅ ĤǓतÍछेद करती हɇ यǑद उनके Ĥाचͧलक समीकरण एक सामाÛय हल को 
सतंçुट करते हɇ। 

Reason (R) :If r₁ = a + λb and r₂ = c + μd, then they intersect when r₁ = r₂. 

यǑद r₁ = a + λb और r₂ = c + μd हɇ, तो व ेतब ĤǓतÍछेद करɅगी जब r₁ = r₂ 
 
Q2. Assertion (A) If three points in 3D space are collinear, then the determinant of their 
coordinates is zero. 
यǑद तीन ǒबदं ुǒğͪवमीय अतंǐर¢ मɅ सरेंखीय (Collinear) हɇ, तो उनके Ǔनदȶशांक का सारͨणक  

(Determinant) शÛूय होगा। 
Reason (R)  
 
 
Three points A, B, C are collinear if: 

तीन ǒबदं ुA, B, C सरेंखीय होत ेहɇ यǑद:อ  
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Q3. Assertion (A) : 
If the direction ratios of two lines are proportional, then they are parallel in 3D space. 
यǑद दो रेखाओ ंके Ǒदक् अनपुात समानपुाती (Proportional) हɇ, तो व ेǒğͪवमीय अतंǐर¢  मɅ समांतर 

(Parallel) होती हɇ। 
Reason (R)  
If the direction ratios of two lines are (a₁, b₁, c₁) and (a₂, b₂, c₂), then they are parallel if: 
यǑद दो रेखाओ ंके Ǒदक् अनपुात (a₁, b₁, c₁) और (a₂, b₂, c₂) हɇ, तो व ेतब समांतर हɉगी जब: 
a₁/a₂ = b₁/b₂ = c₁/c₂ 
Q4. Assertion (A) : 
Two lines in 3D space are perpendicular if the dot product of their direction vectors is zero. 
ǒğͪवमीय अतंǐर¢  मɅ दो रेखाएँ लबंवत (Perpendicular) होती हɇ यǑद उनके Ǒदशा सǑदशɉ का   अǑदश  

गणुनफल (Dot Product) शÛूय हो। 
Reason (R)  
If two lines have direction ratios (a₁, b₁, c₁) and (a₂, b₂, c₂), they are perpendicular if: 
यǑद दो रेखाओ ंके Ǒदक् अनपुात (a₁, b₁, c₁) और (a₂, b₂, c₂) हɇ, तो व ेतब लबंवत हɉगी जब: 
a₁a₂ + b₁b₂ + c₁c₂ = 0 
Q5..Assertion (A): If the direction cosines of a line are known, the direction ratios of the 
same line are uniquely determined. 
कथन (A): यǑद ͩकसी रेखा के Ǒदक् कोÏया £ात हɇ, तो उसी रेखा के Ǒदक् अनपुात अɮͪवतीय Ǿप स े

Ǔनधा[ǐरत होत ेहɇ। 
Q6.Reason (R): Direction ratios can be obtained from direction cosines by multiplying with 
any unique scalar factor. 
कारण (R): Ǒदक् कोÏया को ͩकसी अɮͪवतीय अǑदश गणुनखंड स ेगणुा करके Ǒदक् अनपुात ĤाÜत ͩकए 

जा सकत ेहɇ। 
Q7. Assertion (A): The vector equation of a line depends only on its initial point and direction 
ratios. 
कथन (A): ͩकसी रेखा का सǑदश समीकरण केवल उसके Ĥारंͧभक ǒबदं ुऔर Ǒदक् अनपुात पर Ǔनभ[र करता 
है। 
Reason (R): The vector equation of a line is given as follows. 
कारण (R): रेखा का सǑदश समीकरण Ǔनàनͧलͨखत Ǿप मɅ Ǒदया जाता है। 

 r ሬሬ⃗ = aሬ⃗ +λb ሬሬሬ⃗  
Q8. Assertion (A): The Cartesian equation of a line is uniquely determined by two points. 
कथन (A): ͩकसी रेखा का कातȸय समीकरण दो ǒबदंओु ंɮवारा अɮͪवतीय Ǿप स ेǓनधा[ǐरत होता है। 
Reason (R): The equation of a line passing through two points is given below. 
कारण (R): दो ǒबदंओु ंस ेगजुरने वालȣ रेखा का समीकरण Ǔनàनͧलͨखत है। 

𝑥 − 𝑥ଵ

𝑙
=

𝑦 − 𝑦ଵ

𝑚
=

𝑧 − 𝑧ଵ

𝑛
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Q9 Assertion (A): The shortest distance between two skew lines is always determined 
by their cross product of direction vectors. 
कथन (A): दो ͪवषमतलȣय रेखाओ ंके बीच कȧ Ûयनूतम दरूȣ हमेशा उनके Ǒदशा सǑदशɉ के सǑदश गणुन 
ɮवारा Ǔनधा[ǐरत कȧ जाती है। 
Reason (R): The shortest distance is given by the following formula. 
कारण (R): Ûयनूतम दरूȣ Ǔनàनͧलͨखत सğू ɮवारा दȣ जाती है। 

𝑑 =
ห൫𝑏ሬ⃗ ଶି𝑏ሬ⃗ ଵ൯. (𝑎⃗ଵ ×  𝑎⃗ଶ)ห

ห𝑎⃗ଵ ×  𝑎⃗ଶ)ห
 

 
Q10. Assertion (A): The angle between two lines is always determined by their direction cosines. 
कथन (A): दो रेखाओ ंके बीच कोण हमेशा उनके Ǒदक् कोÏया ɮवारा Ǔनधा[ǐरत ͩकया जाता है। 
Reason (R): The cosine of the angle is given by the following equation. 
कारण (R): कोण का कोसाइन(कोÏया) Ǔनàनͧलͨखत समीकरण ɮवारा Ǒदया जाता है। 

cos 𝜃 =
(𝒂ሬሬ⃗ 𝟏. 𝒂ሬሬ⃗ 𝟐)

|𝒂ሬሬ⃗ 𝟏||𝒂ሬሬ⃗ 𝟐|
 

 
One Mark Questions 
 
Q1. If the direction ratios of a line are (a, b, c), express the direction cosines in terms of a, b, and 
c. 

यǑद ͩकसी रेखा के Ǒदक् अनपुात (a, b, c) हɉ, तो Ǒदक् कोÏया को a, b और c के Ǿप मɅ åयÈत 
करɅ। 
Q2. If a line has direction cosines l, m, n, what is the value of l² + m² + n²? 

यǑद ͩकसी रेखा के Ǒदक् कोÏया l, m, n हɉ, तो l² + m² + n² का मान Èया होगा? 

Q3. Write the vector equation of a line passing through a point A(x₁, y₁, z₁) and parallel to a 

vector सǑदश 𝑏ሬ⃗ = 𝑎𝚤̂+b𝚥̂ +cƙ. 

ऐसी रेखा का सǑदश समीकरण ͧलखɅ जो ǒबदं ुA(x₁, y₁, z₁) से गजुरती हो और सǑदश 𝐵ሬ⃗ = 𝑎𝚤̂+b𝚥̂ 

+cƙ  के समानांतर हो। 
Q4. Find the Cartesian equation of a line that passes through (2, -1, 3) and has direction ratios (1, 
2, -1). 

ऐसी रेखा का कातȸय समीकरण £ात करɅ जो ǒबदं ु(2, -1, 3) से गजुरती हो और िजसके Ǒदक् 
अनपुात (1, 2, -1) हɉ। 
Q5 Skew lines do not lie in the same plane and never intersect. Can two skew lines ever 
be parallel? Give example from daily life or 3D geometry.  
ͪवषमतलȣय रेखाए ँएक हȣ तल मɅ नहȣं होतीं और कभी एक-दसूरे को ĤǓतÍछेद नहȣं करतीं। Èया 
दो ͪवषमतलȣय रेखाएँ कभी समांतर हो सकती हɇ? दैǓनक जीवन या ǒğ-आयामी ÏयाͧमǓत से एक  
उदाहरण दȣिजए। 
Q6. Two lines in space do not intersect and are not parallel. Analyze the geometric 
condition under which the shortest distance between them is unique. 



 

4 | P a g e  
 

मÈुत आकाश मɅ दो रेखाएँ एक-दसूरे को ĤǓतÍछेद नहȣ ंकरतीं और न हȣ समानांतर होती हɇ। उन 
रेखाओं के मÚय अɮͪवतीय Ûयनूतम दरूȣ कȧ Èया शत[ होती है?  
Q7. The shortest distance between two skew or parallel lines in 3D geometry can reveal 
important spatial relationships. Given the following parallel lines: 
 (x - 1)/2 = (y + 3)/-1 = (z - 4)/3 and (x - 4)/2 = (y - 2)/-1 = (z - 1)/3. 
Apply vector concepts and geometry to determine the shortest distance between these 
lines. 
ǒğͪवमीय ÏयाͧमǓत मɅ दो ͪवषमतलȣय या समांतर रेखाओं के बीच कȧ Ûयनूतम दरूȣ से उनके 
èथाǓनक सबंधंɉ का पता चलता है। Ǔनàनͧलͨखत समातंर रेखाएँ दȣ गई हɇ: 
(x - 1)/2 = (y + 3)/-1 = (z - 4)/3 और (x - 4)/2 = (y - 2)/-1 = (z - 1)/3  

सǑदशɉ और ǒğͪवमीय ÏयाͧमǓत कȧ सहायता से इन रेखाओ ंके बीच Ûयनूतम दरूȣ £ात करɅ। 
Q8. Find the angle between two lines whose direction cosines satisfy the relation l₁l₂ + m₁m₂ + 
n₁n₂ = cosθ. 

ऐसी दो रेखाओ ंके बीच कोण £ात करɅ िजनके Ǒदक् कोÏया Ǔनàन सबंधं को सतंçुट करत ेहɇ: l₁l₂ 
+ m₁m₂ + n₁n₂ = cosθ 
Q9. If two lines are perpendicular to each other, what is the value of the dot product of their 
direction vectors? 

यǑद दो रेखाएँ एक-दसूरे के लàबवत हɉ, तो उनके Ǒदक् सǑदशɉ का अǑदश गणुनफल Èया होगा? 

Q10. Explain why two skew lines cannot have a common point. 

यह समझाएँ ͩक दो ͪवषमतलȣय रेखाओं का कोई उभयǓनçठ ǒबदं ुÈयɉ नहȣं हो सकता। 
 
2 Marks Questions 
 
1. For given two points A(1, 2, 3) and B(4, 6, 8), find the direction cosines of the line joining 
these points. 
  Ǒदए गए दो ǒबदं ुA(1, 2, 3) और B(4, 6, 8) के ͧलए, उÛहɅ जोड़ने वालȣ रेखा कȧ Ǒदक् कोÏया (direction 

cosines) £ात कȧिजए। 
2. Find the vector equation of a line passing through the point (2, -1, 3) and parallel to the 
vector𝑏ሬ⃗ = 3𝚤+̂4𝚥̂ +5ƙ. 
   ऐसी रेखा का सǑदश समीकरण (vector equation) £ात करɅ जो ǒबदं ु(2, -1, 3) स ेगजुरती है और सǑदश 

𝑏ሬ⃗ = 3𝚤+̂4𝚥̂ +5ƙ के समानांतर है। 

3. Given the vector equation of a line: r⃗ = ൫2ı̂ + 3ȷ̂ − k෠൯ + λ(4ı̂ − 5ȷ̂ + 6k෠) 
 (i) Convert this into its Cartesian form. 
(ii) Determine whether the point P(6,−2,11) lies on the line or not. 
एक रेखा का Ǒदया गया सǑदश समीकरण है: r⃗ = ൫2ı̂ + 3ȷ̂ − k෠൯ + λ(4ı̂ − 5ȷ̂ + 6k෠) 

(i) इसे कातȸय Ǿप मɅ बदͧलए। 

(ii) यह Ǔनधा[ǐरत कȧिजए  ͩक Èया ǒबदं ुP(6,−2,11) रेखा पर िèथत है अथवा नहȣ?  
4. Prove that the lines  
ͧसɮध  कȧिजए ͩक दȣ गई रेखाए ँͪवषमतलȣय  रेखाए ँ(skew lines) हɇ। 
   (x - 1)/2 = (y + 3)/-1 = (z - 2)/4  
   and  
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   (x - 2)/3 = (y - 1)/2 = (z - 3)/5  
   are skew lines. 
    
5. Find the shortest distance between the skew lines: 
   नीचे दȣ गई ͪवषमतलȣय  रेखाओ ंके बीच Ûयनूतम दरूȣ (shortest distance) £ात करɅ। 

   𝑟 = (1 +  2λ)ı̂ + (3 −  λ)ȷ̂ + (4 +  5λ)k෠ 
   and  
    𝑅ሬ⃗ = (2 +  3μ)ı̂ + (1 +  2μ)ȷ(̂3 +  5μ)k෠ 
6. Two skew lines are given. The first has direction vector 𝑎⃗ = 2𝚤̂ − 𝚥̂ + 3𝑘෠ and and the 
second has position vector Rሬሬ⃗ = (2 + 3μ)𝚤̂ + (ሖ 1 + 2μ)𝚥̂ሖ + (3 + 5μ)𝑘෠ . Find the unit vector 
along  shortest distance between them. 
   दो ͪवषमतलȣय  रेखाए दȣ गयी हɇ। िजनम ेसे Ĥथम रेखा का  Ǒदशा सǑदश 𝑎⃗ = 2𝚤̂ − 𝚥̂ + 3𝑘෠ और 

दसूरȣ रेखा का िèथǓत सǑदश Rሬሬ⃗ = (2 + 3μ)𝚤̂ + (ሖ 1 + 2μ)𝚥̂ሖ + (3 + 5μ)𝑘෠  हɇ। उनके बीच कȧ 
Ûयनूतम दरूȣ के अनǑुदश एकांक सǑदश (unit vector) £ात करɅ। 
7. Find the angle between the lines whose direction cosines are given as (2, -1, 3) and (1, 4, -
2). 
   उन रेखाओ ंके बीच का कोण £ात करɅ िजनके Ǒदक् कोÏया (2, -1, 3) और (1, 4, -2) Ǒदए गए हɇ। 
8. If the lines  
   (x - 1)/3 = (y + 2)/4 = (z - 3)/5  
   and  
   (x + 2)/6 = (y - 1)/8 = (z + 4)/10  
 are perpendicular, determine the condition that their direction vectors must satisfy.   
यǑद रेखाए ँ 
 (x - 1)/3 = (y + 2)/4 = (z - 3)/5  
   और   
   (x + 2)/6 = (y - 1)/8 = (z + 4)/10 
लबंवत हɇ, तो उनके Ǒदक्  सǑदशो ɮवारा सतंçुट कȧ जाने वालȣ शत[ Ǔनधा[ǐरत  करɅ। 
9. Show that the lines  
     𝑟 = (ı̂ + 2ȷ̂ + 3k)෡ + λ(2ı̂ − ȷ̂ + 4k ෡) 
   and  
𝑅ሬ⃗ = (3ı̂ − 2ȷ̂ + k)෡ +μ(−4ı̂ + 2ȷ̂ − 8k෠) 
      are parallel. 
   ͧसɮध करɅ ͩक Ǔनàनͧलͨखत रेखाए ँसमानांतर हɇ: 
     𝑟 = (ı̂ + 2ȷ̂ + 3k)෡ + λ(2ı̂ − ȷ̂ + 4k෠) 

   और   

𝑅ሬ⃗ = (3ı̂ − 2ȷ̂ + k)෡ +μ(−4ı̂ + 2ȷ̂ − 8k෠) 
 
10. The line 𝑟 = (2ı̂ + ȷ̂ − 3k)෡ + λ(4ı̂ − 2ȷ̂ + 6k෠)is rotated about the origin. How does the 
angle it makes with the coordinate axes change? 
   रेखा  𝑟 = (2ı̂ + ȷ̂ − 3k)෡ + λ(4ı̂ − 2ȷ̂ + 6k෠) को मलू ǒबदं ुके चारɉ ओर घमुाया जाता है। यह Ǔनदȶशांक 
अ¢ɉ (coordinate axes) के साथ बने कोण को कैसे Ĥभाͪवत करेगा? 
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4 Marks Questions  
 

Q1: A line has direction ratios (3, -4, 5). Normalize the direction ratios to obtain direction 
cosines and prove that they satisfy the identity l² + m² + n² = 1. Further, if a second line 
has direction ratios (1, 2, 2), determine the angle between the two lines.  
यǑद एक रेखा के Ǒदक् अनपुात (3, -4, 5) हɇ, तो उÛहɅ सामाÛयीकृत कर Ǒदक्  कोसाइन £ात करɅ 
और ͧसɮध करɅ ͩक वे  सव[सͧमका l² + m² + n² = 1  को सतंçुट करते हɇ। साथ हȣ, यǑद दसूरȣ 
रेखा के Ǒदक् अनपुात (1, 2, 2) हɉ, तो दोनɉ रेखाओं के बीच का कोण £ात करɅ। 
Q2 : Given two points A(1, 2, 3) and B(4, 6, 8), find the direction cosines of line AB. 
Additionally, determine the projection of vector AB on the x-axis. 

 दो Ǒदए गए ǒबदं ुA(1, 2, 3) और B(4, 6, 8) को ͧमलाने वालȣ रेखा AB के Ǒदक् कोसाइन £ात 
करɅ। साथ हȣ, सǑदश AB का x-अ¢ पर Ĥ¢ेप £ात करɅ। 
Q3 : Derive the vector equation of the line passing through (2, -1, 3) and parallel to vector 

𝑏ሬ⃗ = 3𝚤̂ − 4𝚥̂ + 5𝑘෠ .  Find whether this line intersects the plane 2x - y + z = 7.  

ǒबदं ु(2, -1, 3) से गजुरने वालȣ और सǑदश 𝑏ሬ⃗ = 3𝚤̂ − 4𝚥̂ + 5𝑘෠  के समानातंर रेखा का सǑदश 
समीकरण ĤाÜत करɅ। यह भी £ात करɅ ͩक यह रेखा तल 2x - y + z = 7 को ĤǓतÍछेद करती है या 
नहȣं। 
Q4 : Derive the parametric equations of the line through point (1, 2, -3) and parallel to 𝑏ሬሬ⃗ = 2𝚤̂ +

𝚥̂ + 4 𝑘෠ . Then, find the point on this line where z = 5.  

ǒबदं ु(1, 2, -3) से गजुरने वालȣ और सǑदश  𝑏ሬሬ⃗ = 2𝚤̂ + 𝚥̂ + 4 𝑘෠  के समानातंर रेखा के Ĥाचͧलक 
समीकरण ĤाÜत करɅ। ͩफर, उस ǒबदं ुको £ात करɅ जहा ँz = 5 हो। 
Q5 : Prove that the lines (x-1)/2 = (y+3)/4 = (z-5)/6 and (x-2)/1 = (y-4)/2 = (z-3)/-1  are 

skew by showing they neither intersect nor are parallel. Further, compute the shortest distance 

between them. ͧसɮध करɅ ͩक रेखाए ँx-1)/2 = (y+3)/4 = (z-5)/6 और (x-2)/1 = (y-4)/2 = (z-3)/-

1 ͪवषमतलȣय हɇ अथा[त न तो ĤǓतÍछेद करती हɇ और न हȣ समांतर हɇ। साथ हȣ, उनके बीच कȧ 
Ûयनूतम दरूȣ £ात करɅ। 
Q6 : Find the shortest distance between the skew lines Find the shortest distance between 
the skew lines: 
𝑟 = (2ı̂ + 3ȷ̂ − k)෡ + λ(3ı̂ − ȷ̂ + 2k ෡) 
 
 𝑅ሬ⃗ = (4ı෡ − ȷ̂ + 2k)෡+ μ(ı̂ + 2ȷ̂ − k ෡): Also, determine the point on each line where this shortest 
distance occurs.  
Ǔनàनͧलͨखत ͪवषमतलȣय रेखाओ ंके बीच कȧ Ûयनूतम दरूȣ £ात करɅ: 
𝑟 = (2ı̂ + 3ȷ̂ − k)෡ + λ(3ı̂ − ȷ̂ + 2k ෡) 
 
 𝑅ሬ⃗ = (4ı෡ − ȷ̂ + 2k)෡+ μ(ı̂ + 2ȷ̂ − k ෡):  साथ हȣ दोनɉ रेखाओ ंपर वह ǒबदं ु£ात करɅ िजनके बीच यह 
Ûयनूतम दरूȣ होती है। 
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Q7 : Determine whether the lines and intersect. If so, find the point of intersection; if not, find the 

minimum distance between them. जाँच करɅ ͩक रेखाए ँऔर ĤǓतÍछेद करती हɇ या नहȣं। यǑद 
करती हɇ, तो ĤǓतÍछेदन ǒबदं ु£ात करɅ; अÛयथा उनके बीच कȧ Ûयनूतम दरूȣ £ात करɅ। 
Q8 : A physicist is studying the interaction between two forces represented by vectors a = 
2i + j - k and b = i - 2j + 2k. Find the angle between the directions of these forces and 
confirm whether they form an acute angle  
एक भौǓतक ͪव£ानी दो बलɉ कȧ Ǒदशा का अÚययन कर रहा है, िजÛहɅ Ǔनàनͧलͨखत सǑदशɉ 
ɮवारा दशा[या गया है: 𝑎⃗ = 2𝚤̂ + 𝚥̂ − 𝑘෠ और 𝑏ሬ⃗ = 𝚤̂ − 2𝚥̂ + 2 𝑘෠   हɇ। उनके बीच का Ûयनूतम कोण 
£ात करɅ। यह भी स×याͪपत करɅ ͩक वह कोण Ûयनू कोण है। 
(Ǒदया गया है cos−1(−0.272)≈105.8∘) 
Q9 : Derive the condition under which the lines 𝑟ଵሬሬሬ⃗ = 𝑎ଵሬሬሬሬ⃗ + λbଵ

ሬሬሬሬ⃗  and 𝑟ଶሬሬሬ⃗ = 𝑎ଶሬሬሬሬ⃗ + λbଶ
ሬሬሬሬ⃗  are 

perpendicular. Then, if  vectors 𝑏ଵ
ሬሬሬ⃗ = 2𝚤̂ − 𝚥̂ +  𝑘෠  and 𝑏ଶ

ሬሬሬሬ⃗ = 𝚤̂ + 2𝚥̂ − 2𝑘෠ , then verify if the 

lines are perpendicular.  

रेखाओं 𝑟ଵሬሬሬ⃗ = 𝑎ଵሬሬሬሬ⃗ + λbଵ
ሬሬሬሬ⃗   और  𝑟ଶሬሬሬ⃗ = 𝑎ଶሬሬሬሬ⃗ + λbଶ

ሬሬሬሬ⃗  के परèपर लàबवत होने कȧ शत[ ĤाÜत कȧिजए। 
यǑद  𝑏ଵ

ሬሬሬ⃗ = 2𝚤̂ − 𝚥̂ +  𝑘෠ तथा  𝑏ଶ
ሬሬሬሬ⃗ = 𝚤̂ + 2𝚥̂ − 2𝑘෠ तो यह स×याͪपत कȧिजए ͩक Èया ये रेखाएँ 

परèपर लàबवत हɇ। 
  
 5 Marks Questions 
 
1. A line has direction ratios proportional to (2, -1, 2). 
(i) Find the exact direction cosines of the line. 
(ii) A second line has direction ratios (1, 2, -2). Determine the acute angle between the two lines, 
and prove that they are perpendicular using  vector approach. 
(iii) Suppose this line lies in a plane. Find the Cartesian equation of that plane if it also passes 
through the point P(1, 2, -1). 

एक रेखा के Ǒदक् अनपुात (2, -1, 2) के समानपुाती हɇ। 
(i) इस रेखा के Ǒदक् कोÏया £ात करɅ। 
(ii) एक दसूरȣ रेखा के Ǒदक् अनपुात (1, 2, -2) हɇ। दोनɉ रेखाओं के बीच का Ûयनू कोण £ात करɅ 
और सǑदश ͪवͬधयɉ स ेͧसɮध करɅ ͩक वे लबंवत हɇ। 
(iii) यǑद यह रेखा ͩकसी तल मɅ िèथत है, और वह तल ǒबदं ुP(1, 2, -1) से भी गजुरता है, तो उस 
तल का कातȸय समीकरण £ात करɅ। 
2.Given two points A(3, -2, 5) and B(7, 4, -1), 
(i) Find the direction ratios and direction cosines of the line joining them. 
(ii) A second line joins points C(1, 2, 3) and D(4, -1, 2). Verify  whether AB ⊥ CD or not . 
ǒबदं ुA(3, -2, 5) और B(7, 4, -1) को जोड़ने वालȣ रेखा के 

(i) Ǒदक् अनपुात और Ǒदक् कोÏया £ात करɅ। 

(ii) दसूरȣ रेखा ǒबदं ुC(1, 2, 3) और D(4, -1, 2) को जोड़ती है। परȣ¢ण करɅ ͩक AB ⊥ CD है या 
नहȣं। 
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3. Two lines have direction cosines (1/3, 2/3, 2/3) and (2/3, 1/3, -2/3). 
(i) Find the angle between these lines. 
(ii) Derive the general formula for the angle between two lines using direction cosines. 
(iii) Using your result, verify orthogonality or non-orthogonality of lines and interpret 
geometrically. 
दो रेखाओं के Ǒदक् कोÏया )1/3, 2/3, 2/3) और )2/3, 1/3, -2/3) Ǒदए गए हɇ। 

(i) रेखाओं के बीच का कोण £ात करɅ। 

(ii) Ǒदक् कोÏया के उपयोग स ेरेखाओं के बीच कोण £ात करने का सामाÛय सğू ͧसɮध करɅ। 

(iii) ĤाÜत पǐरणाम स ेरेखाओं के लबंवत अथवा अलबंवत होने कȧ पिुçट करɅ और Ïयाͧमतीय 
åयाÉया करɅ। 

4 : An architect is designing a pair of steel beams in a complex structure. The beams are 
represented by the vector equations: 
Beam 1:  𝑟ଵሬሬሬ⃗ = (𝚤̂ + 2𝚥̂ + 3𝑘෠) + λ(2𝚤̂ − 𝚥̂ + 𝑘෠)  
Beam 2: 𝑟ଶሬሬሬ⃗ = (3𝚤̂ − 𝚥̂ + 2𝑘෠) + 𝜇(𝚤̂ + 𝚥̂ + 2𝑘෠)  
(i) Determine the acute angle between the two beams to ensure they meet structural 
design criteria. 
(ii) Verify whether these beams intersect at any point. If not, find the shortest distance 
between them to ensure a connecting bracket can be installed. 
Assume all coordinates are in meters. 
एक वाèतकुार एक जǑटल सरंचना मɅ दो èटȣल बीम कȧ ͫडज़ाइन कर रहा है। बीम कȧ िèथǓत 
Ǔनàनͧलͨखत सǑदश समीकरणɉ ɮवारा दशा[ई गई है: 
बीम 1:  𝑟ଵሬሬሬ⃗ = ൫𝚤̂ + 2𝚥̂ + 3𝑘෠൯ + λ൫2𝚤̂ − 𝚥̂ + 𝑘෠൯ 

बीम 2:  𝑟ଶሬሬሬ⃗ = (3𝚤̂ − 𝚥̂ + 2𝑘෠) + 𝜇(𝚤̂ + 𝚥̂ + 2𝑘෠)  

(i) सरंचना×मक ͫडजाइन मानकɉ कȧ पǓूत [ के ͧलए दोनɉ बीम के बीच का Ûयनू कोण £ात करɅ। 
(ii) जाँच करɅ ͩक Èया ये बीम एक ǒबदं ुपर ĤǓतÍछेद करती हɇ। यǑद नहȣ,ं तो उनके बीच कȧ 
Ûयनूतम दरूȣ £ात करɅ ताͩक उनके बीच एक सबंधंक कोçठक लगाया जा सके। 
5: Two skew lines are given as:  
(x - 2)/1 = (y + 1)/-2 = (z - 3)/4 
(x + 3)/2 = (y - 2)/3 = (z - 1)/-1 
(i) Find the shortest distance between the two skew lines using the cross product and projection 
method. 
(ii) Interpret the physical significance of the shortest distance between these lines in a real-
world context.  
(iii) Formulate a general method to calculate the shortest distance between two skew lines using 
vector approach. 
दो ͪवषमतलȣय रेखाएँ दȣ गई हɇ: 
(x - 2)/1 = (y + 1)/-2 = (z - 3)/4 
(x + 3)/2 = (y - 2)/3 = (z - 1)/-1 
 (i) सǑदश गणुन एव ंĤ¢ेप ͪवͬध स ेÛयनूतम दरूȣ £ात करɅ। 
(ii) इन रेखाओ ंके मÚय Ûयनूतम दरूȣ का वाèतͪवक जीवन सदंभ[ मɅ भौǓतक मह×व èपçट करɅ 
(iii) ͪवषमतलȣय  रेखाओं के मÚय Ûयनूतम दरूȣ £ात करने कȧ एक सामाÛय ͪवͬध तयैार करɅ। 
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7. Find the vector equation of the line passing through points A(2, -3, 5) and B(4, 1, -2). 
(i) Write parametric equations of the line. 
(ii) Find the coordinates of the point that divides AB in the ratio 2:3 internally and 
externally. 
(iii) Find the projection of vector AB on the coordinate axes. 
 
ǒबदं ुA(2, -3, 5) और B(4, 1, -2) से गजुरने वालȣ रेखा का: 
(i) सǑदश समीकरण और Ĥाचͧलक समीकरण ͧलखɅ। 
(ii) AB को 2:3 के आंतǐरक और बाéय अनपुात मɅ ͪवभािजत करने वाल ेǒबदं ु£ात करɅ। 
(iii) सǑदश AB का Ǔनदȶशांक अ¢ɉ पर Ĥ¢ेप £ात करɅ 
 
8:  The lines: 
(x - 1)/2 = (y + 1)/3 = (z - 2)/4 
(x - 3)/-1 = (y - 4)/2 = (z + 1)/-3 
are given in  symmetrical form. 
(i) Verify analytically that these lines intersect, and find their point of intersection. 
(ii) Determine the unique plane in which both lines lie and find its vector equation. 
(iii) Calculate the angle between the two lines, and explain its geometric interpretation in 
context of spatial orientation of the lines. 
Ǔनàन रेखाएँ समͧमत Ǿप मɅ दȣ गई हɇ: 
(x - 1)/2 = (y + 1)/3 = (z - 2)/4 
(x - 3)/-1 = (y - 4)/2 = (z + 1)/-3 
(i) ͪवæलेषणा×मक Ǿप स ेस×याͪपत करɅ ͩक ये रेखाए ँĤǓतÍछेद करती हɇ, और उनका ĤǓतÍछेदन 
ǒबदं ु£ात करɅ। 
(ii) उस एकमाğ तल का सǑदश समीकरण £ात करɅ िजसमɅ ये दोनɉ रेखाए ँिèथत हɇ। 
(iii) रेखाओं के मÚय कोण £ात करɅ और उसका Ïयाͧमतीय अथ[ èपçट करɅ — जैसे ͩक उनके 
आपसी झुकाव या िèथǓत कȧ åयाÉया करɅ। 
 
9: Three points A(1, 2, 3), B(3, 6, 9), and C(5, 10, 15) are given. 
(i) Prove they are collinear using vector method. 
(ii) Find the equation of the line passing through them. 
(iii) Determine if any point P(x, y, z) lies on the same line for which x/1 = y/2 = z/3 holds. 

तीन ǒबदं ुA(1, 2, 3), B(3, 6, 9), और C(5, 10, 15) Ǒदए गए हɇ। 
(i) ͧसɮध करɅ ͩक वे रेखीय हɇ (सǑदश ͪवͬध से)। 
(ii) उस रेखा का समीकरण £ात करɅ जो इन ǒबदंओुं स ेगजुरती है। 
(iii) जाँच करɅ ͩक Èया कोई ǒबदं ुP(x, y, z), िजसके ͧलए x/1 = y/2 = z/3 हो, इस रेखा पर िèथत 
हो सकता है। 
10:  In an industrial setup, two conveyor belts are suspended in space and modeled by the 
following vector equations: 
Conveyor A:  𝑟ଵሬሬሬ⃗ = ൫2𝚤̂ + 3𝚥̂ − 𝑘෠൯ + λ൫𝚤̂ − 𝚥̂ + 2𝑘෠൯ 
Conveyor B:  𝑟ଶ ሬሬሬሬ⃗ = ൫4𝚤̂ − 2𝚥̂ + 5𝑘෠൯ + μ൫−2𝚤̂ + 3𝚥̂ + 𝑘෠൯  
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(i) Show that these two conveyor paths are non-parallel and skew. 
(ii) Using determinant method, calculate the shortest distance between them. 
(iii) Explain why calculating this distance is important in practical applications like ensuring safe 
spacing and avoiding collisions in automation systems. 

एक औɮयोͬगक सयंğं मɅ दो कÛवेयर बेãट को हवा मɅ इस Ĥकार èथाͪपत ͩकया गया है ͩक 
उनका पथ Ǔनàनͧलͨखत सǑदश समीकरणɉ ɮवारा दशा[या जाता है: 
कÛवेयर A:  𝑟ଵሬሬሬ⃗ = ൫2𝚤̂ + 3𝚥̂ − 𝑘෠൯ + λ൫𝚤̂ − 𝚥̂ + 2𝑘෠൯ 

कÛवेयर B:     𝑟ଶ ሬሬሬሬ⃗ = ൫4𝚤̂ − 2𝚥̂ + 5𝑘෠൯ + μ൫−2𝚤̂ + 3𝚥̂ + 𝑘෠൯  

(i) ͧसɮध करɅ ͩक ये दोनɉ कÛवेयर रेखाएँ ͪवषमतलȣय हɇ और आपस मɅ समानांतर नहȣं हɇ। 
(ii) सारͨणक ͪवͬध का उपयोग करके इनके बीच कȧ Ûयनूतम दरूȣ £ात करɅ। 
(iii) èपçट करɅ ͩक इस दरूȣ कȧ गणना åयावहाǐरक Ǿप से Èयɉ मह×वपणू[ है।  

Case Study Questions 
Case Study 1:  
A drone is flying from point A(1,2,3) to point B(4,6,8). The control system of the drone 
calculates the direction cosines of the path to ensure correct navigation. The direction ratios 
of the line joining these points help in adjusting its path. The ground control station needs 
to determine the Cartesian and vector equations of this line to analyze its flight trajectory. 
एक Ĝोन ǒबदं ुA(1, 2, 3) से ǒबदं ुB(4, 6, 8) कȧ ओर उड़ान भर रहा है। Ĝोन कȧ Ǔनयğंण Ĥणालȣ 
सहȣ Ǒदशा -Ǔनदȶशन सǓुनिæचत करने के ͧलए माग[ के Ǒदक् कोÏया ) Direction Cosines) कȧ गणना 
करती है। इन ǒबदंओुं को जोड़ने वालȣ रेखा के Ǒदक् अनपुात )Direction Ratios) Ĝोन के माग[ को 
समायोिजत करने मɅ सहायक होत ेहɇ। Ēाउंड कंĚोल èटेशन को Ĝोन कȧ उड़ान पथ )Flight 

Trajectory) का ͪवæलेषण करने हेत ुइस रेखा का कातȸय तथा सǑदश समीकरण £ात करना 
आवæयक है। 
Questions: 
 1. Find the direction ratios of the line joining points A and B. (1 Mark) 

   ǒबदं ुA और B को जोड़ने वालȣ रेखा के Ǒदक् अनपुात £ात कȧिजए। 
 2. Find the direction cosines of the line joining points A and B. (1 Mark) 

   ǒबदं ुA और B को जोड़ने वालȣ रेखा के Ǒदक् कोÏया £ात कȧिजए। 
 3. Write the vector equation of the line passing through A and B. (1 Mark) 

   ǒबदं ुA और B स ेगजुरने वालȣ रेखा का सǑदश समीकरण ͧलͨखए। 

 4. Derive the Cartesian equation of the line passing through A and B. (2 Marks) 
   ǒबदं ुA और B स ेगजुरने वालȣ रेखा का कातȸय समीकरण åय×ुपÛन कȧिजए। 

Case Study 2:  
An architect is designing a unique building where two non-parallel steel beams are placed 
in such a way that they do not intersect. The equations of these beams in 3D space are: 
(x - 2)/3 = (y + 1)/-2 = (z - 4)/5 
(x - 5)/1 = (y - 3)/2 = (z + 2)/-4 
The architect needs to find out whether the beams are skew lines and determine the 
shortest distance between them  
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एक वाèतकुार एक अɮͪवतीय भवन ͫडज़ाइन कर रहा है, िजसमɅ दो असमानांतर èटȣल कȧ बीमɉ 
को इस Ĥकार èथाͪपत ͩकया गया है ͩक वे एक-दसूरे को ĤǓतÍछेद (intersect) नहȣं करतीं हɇ। 
ǒğ-आयामी (3D) अतंǐर¢ मɅ इन बीमɉ कȧ समीकरणɅ Ǔनàनͧलͨखत हɇ: 
 (x - 2)/3 = (y + 1)/-2 = (z - 4)/5 
(x - 5)/1 = (y - 3)/2 = (z + 2)/-4 
वाèतकुार को यह £ात करना है ͩक Èया ये बीमɅ ͪवषमतलȣय रेखाएँ )skew lines) हɇ तथा उनके 
बीच कȧ Ûयनूतम दरूȣ ͩकतनी है।" 
Questions: 
 1.  Define skew lines in three-dimensional geometry. (1 Mark) 

   ǒğ-आयामी ÏयाͧमǓत मɅ ͪवषमतलȣय रेखाओ ं(skew lines) को पǐरभाͪषत कȧिजए। 
 2. Find the direction ratios of both lines given in the case study. (1 Mark) 

    दȣ गई दोनɉ रेखाओ ंके Ǒदक् अनपुात £ात कȧिजए। 
 3. Check if the given lines are parallel. Justify your answer. (1 Mark) 

   जांच करɅ ͩक Èया दȣ गई रेखाए ँसमांतर हɇ। अपने उƣर को उͬचत ठहराइए। 

 4. Find the shortest distance between the given skew lines. (2 Marks) 
   दȣ गई ͪवषमतलȣय रेखाओ ंके बीच Ûयनूतम दरूȣ £ात कȧिजए। 

Case Study 3:  
At an international airport, two airplanes are flying along different paths given by the 
equations: 
 𝑟ଵሬሬሬ⃗ = ൫2𝚤̂ + 3𝚥̂ + 𝑘෠൯ + λ൫𝚤̂ − 𝚥̂ + 3𝑘෠൯ 
  𝑟ଶ ሬሬሬሬ⃗ = ൫4𝚤̂ − 𝚥̂ + 2𝑘෠൯ + μ൫3𝚤̂ + 𝚥̂ − 𝑘෠൯    
Air traffic controllers need to determine the angle between these flight paths to ensure safe 
distances between the airplanes. 
एक अतंरराçĚȣय हवाई अɬड ेपर, दो ͪवमान Ǔनàनͧलͨखत समीकरणɉ ɮवारा Ǒदए गए ͪवͧभÛन 
मागɟ पर उड़ान भर रहे हɇ: 
 𝑟ଵሬሬሬ⃗ = ൫2𝚤̂ + 3𝚥̂ + 𝑘෠൯ + λ൫𝚤̂ − 𝚥̂ + 3𝑘෠൯,  

  𝑟ଶ ሬሬሬሬ⃗ = ൫4𝚤̂ − 𝚥̂ + 2𝑘෠൯ + μ൫3𝚤̂ + 𝚥̂ − 𝑘෠൯ 

वाय ुयातायात Ǔनयğंकɉ को ͪवमानɉ के बीच सरुͯ¢त दरूȣ सǓुनिæचत करने के ͧलए इन उड़ान 
मागɟ के बीच कोण Ǔनधा[ǐरत करना होगा। 
Questions: 

1. Find the direction vectors of both flight paths. (1 Mark) 
   दोनɉ ͪवमान पथɉ के Ǒदक सǑदश £ात करɅ। 
2Write the formula to find the angle between two lines in vector form. . (1 Mark) 
   सǑदश Ǿप मɅ दो रेखाओ ंके बीच कोण £ात करने का सğू ͧलखɅ। 
3. Calculate the dot product of the given direction vectors. (1 Mark) 
   Ǒदए गए Ǒदक  सǑदशɉ का अǑदश गणुनफल £ात करɅ। 
4. Determine the angle between the two flight paths using the dot product formula. (2 
Marks)  
अǑदश गणुनफल सğू का उपयोग करके दो ͪवमान पथɉ के बीच कोण £ात करɅ। 

 
 


